A E25 (ZFERAER)

SEERBKNBEXRFRRE (£H)

RE - BAETE

(U >Z ETIE)

(B4 FH, %)

F E —
265 E | 21FE | 285K | 295K | 0FE | nEE - = - = - -
% I | cE | ;B | g®m | g® | re) | FE | 3FE | 4FEE | SFE | 6FE | TEE
1 o 1Y & (A)| 107,064| 103,883 99,241 85254| 86,260/ 85588 89,301 89,948| 95270 91924 91,255 88280
1) & - IR & (B) 48412 48074 47017| 46,623| 46,089] 45937| 46,588| 46,068] 45299| 44203 43145 42,158
1% 7 % & I A 48,411 48,073 47,017| 46,623 46,089] 45936| 46586| 46,065 45299 44,203 43,145 42,158
i 4 ® & T % W & Q©
Iy S D ith 1 1 1 2 3
RiAL (2 & * A I £ 58,652| 55809 52,224 38,631 40,171 39,651 42,713 43,880 49,971 47,721 48110 46,122
7 M = EH 8 A =2 49533 50,191 50,497| 37,037| 37,458 36,822 36,487 34,681 34553 35056 36,267| 45730
i 14 % ) ith 9,119 5618 1,727 1,594 2,713 2,829 6,226 9,199 15,418 12,665 11,843 392
8 2 & F (D) 68,329| 60,949 55304 55122 58,785 54,083| 55090 56,761 59,892 54,819 51,216 50,159
1) & x & F 49,037| 42,706/ 38,042 38830 43436| 39,694| 41,691 44,341 48,469 44394 41836 41841
1z | U4x 7 B = A 5 & 1,323 946 1,389 930 1,146 1,176 1,737 1,782 1,784 1,800 1,816 1,832
= 5 5 B B F X%
X | By 14 % ) ith 47,714 41,760 36,653| 37,900 42290| 38518| 39,954| 42559| 46,685 42,594 40,020 40,009
X[ (2) E E3 ZAS & F 19,292 18,243 17,262 16,292 15,349 14,389 13,399 12,420 11,423 10,425 9,380 8,318
H 7 X i Il 2 19,130 18,207 17,262 16,292 15,349 14,389 13,399 12,420 11,423 10,425 9,380 8,318
565 —KBEAZAA
1 % D ith 162 36
3 I % % 5l (A)-(D) (E) 38,735 42,934 43937 30,132 27,475 31505 34211 33,187 35378 37,105 40,039 38,121
1 & i i) I A (F) 8,639 4,945 5209 21,236 29,251 26,152| 24,581 41609 41206 487328 44026 57422
(1) # Pl =} 20500 24,200 24,100 23,600 33000 33400 37,500 36,100 45300
& 5 b B XK & ¥ £ & & 19,500  19,100] 20,100 21,000 22,000] 23,400 24500 26,100| 31,200
A (2) b = it G B & 79 113 191 248 252 255 258 262 265 265 265 265
& B (3) = it & A o
W@ B & &8 BE £ # & £
xM6 B (B & m B ) @ B & 7515 7,460 10,470 7520 11,670
(6) T £ a8 {8 & 1,006 567 290 246 429 693 723 815 27 23 21 17
7 (7) % D th 7,554 4,265 4,728 242 4,370 1,104 17 54 70 120 170
2 & i i) 53 H (G) 46,345 47,388 48803| 51,109 56,318 56,328| 55647| 73,851 75,383| 84,312 82978 95526
i gl (1) B 4 B4 B g 1,134 5,314 4,313 2,600 18532| 17,544| 23540] 17,640 25,940
% | & 5 b B B # 5 &
B (2) b Pl & 8 = £ (H) 46,345 47,388 48,803 49975 51,004| 52015 53047 55319 57,839| 60,772| 65338 69,586
X3 MmEH EHPBEBAZEZES
Hla) # 2 % ~ 0O & &= =
(5) % ) ith
3 IR % % 5l (F)~(G) (M| A 37,706 A 42,443 A 43594 A 29,873| A 27,067| A 30,176| A 31,066| A 32,242| A 34,177| A 35984 A 38,952 A 38,104




A E25 (ZFERAER)

SEERBKNBEXRFRRE (£H)

RE - BAETE
(U >Z ETIE)

(B4 FH, %)

=3 & —
265 E | 21FE | 285K | 295K | 0FE | nEE - = - = - -
X 4 GRE) | GrRE) | Gr®) | rE) | rEm) | rm) | PFE | 3FE | 4FE | SFE | 6FE | TEE
R X B Z 5l (E)+(D) (J) 1,029 491 343 259 408 1,329 3,145 945 1,201 1,121 1,087 17
& 3L % (K) 1,029 491 343 259 408 1,329 3,145 945 1,201 1,121 1,087 17
BEEMNDZRHBE (L)
MEERELELTERE (M)
Vit = lijr} * (D)-(K)+L)-(M) (N)
B EEANBY B 3T X EF B R ()
£ B I X|E F (P)
(N)-(0) O F Q)
- = Q)
* F kb E ( Bcy X100)
IR 7% B IR X EE EE ( (D()/:‘()H) x 100 ) 93.4 95.9 95.3 81.1 78.6 80.7 82.6 80.3 80.9 79.5 78.3 73.7
MAEMBGEEITSEI6EFE1EICLYETEL R)
& & 1)) x il 28
EEXERE-—_FHEIFWRHE B-CS 48412| 48074| 47017| 46,623| 46,089| 45937| 46,588| 46,068 45299 44203 43,145 42,158
B S |C
fjg 2 ’TT B‘E'f@" e § (R)/(S) X 100)
BeibEEiTEE16KICEYEREL: T
= & ) S B ]
BeibERTHRAFEERICHET S L)
i H W £ B &£ X B #
BEIEERITSEITEICEVETEL: W)
) ES ) iR 1=
BelbEE2EICIYERELS:
&5 & T B M = ((T)/(V) % 100)
Hh £ 5 @B A = KB 5 (W)
ih Vil & % = X)| 921421 874,032 825229| 795754| 768950 741,035 711,588| 689,269 664,830 641558 612,320| 588,034
OhEEHgAS (B FH)
F £ —
265 E | 21FEE | 28FF | 295E | 0FE | nEE = = - = - -
4 GRE) | GRE) | GRE) | r®) | rE) | Grm) | FE | 3FE | 4FE | SFE | FE | THFE
R &= MR X & 49,533 50,191 50,497 37,037 37,465 37,358 36,487 34,681 34,553 35,056 36,267 45,730
S5 EERNKBE A £ 48,992 49,636 49,961 36,515 36,951 36,854 35,968 34,140 34,011 34,514 35,725 34,508
5 b H OE N B AE® 541 555 536 522 514 504 519 541 542 542 542 11,222
HENBARSILATHES 10,680
HE XK IR X H» 79 113 191 243 252 255 258 262 265 265 265 265
5 b H E RN B A 79 113 191 243 252 255 258 262 265 265 265 265
56 H £ 4 & A £
HENBARSEATHES
= K 49,612 50,304] 50,688 37,280 37,717 37,613 36,745 34,943 34,818 35,321 36,532] 45,995




HRFE2S (RIFERER)

(REIRD) EEEZHKNIBEEE

IRE - BAGETE
(IR>ZETED)

(B6L:FH, %)

F 4 —
266EE | 275EE | 285[E | 296 [E | 0EE | nEE = - = = = -
X 4 GRE) | GRED | GRED | GRED | Gr®) | Grm) | 2FE | 3FE | 4FEE | SEE | 6FE | THE
1 “® Iz I (A) 42,478 41383 38,192 34469 31,366 35121 33,372 33,131 36,764 37,683 37,299 40,742
1) & * 1R & (B) 11,725 11,813 11,979 16,755 12,334 11,986 12,661 12,786 12,668 12,514 12,351 12,209
1% 7 # & Iz A 11,724  11.812] 11,979] 16,755/ 12,334| 11,985 12,659 12,784| 12,668 12514 12,351 12,209
i 4 ® ® I % W & ©
Iz S D th 1 1 1 2 2
IiAl(2) & * VA I Eny 30,753| 29,570 26,213| 17,714| 19,032| 23,135/ 20,711 20,345 24,096 25169 24948 28533
7 &5 FH OB A £ 22,294 24591 25003| 16,656 16,728 21,907 16,242 15411 15,321 15,741 17,235 28,533
i 1 % ) fth 8,459 4,979 1,210 1,058 2,304 1,228 4,469 4,934 8,775 9,428 7,713
4 2 & F (D) 29322| 25520 21,809 21692 22093| 21,736 22,452 21,888 22,047 21903| 18782 20,161
1) & * & H 20,142 16,864 13,606 13916 14,731 14,797 15,950 15,817 16,411 16,691 14,035 15,894
i | 1z 7 B =1 #a 5 &
£ 5 & ;B B F X4
|8 1 % ) ith 20,142 16,864 13,606 13916 14,731 14,797 15,950 15,817 16,411 16,691 14,035 15,894
X[ (2) = S VA = H 9,180 8,656 8,203 7,776 7,362 6,939 6,502 6,071 5,636 5212 4,747 4,267
t 7 X s | B 9,030 8,620 8,203 7,776 7,362 6,939 6,502 6,071 5,636 5,212 4,747 4,267
565 —BHEALHE
1 % ) ith 150 36
3 I &% % 5| (A)-(D) (E) 13,156| 15,863| 16,383| 12,777 9273 13385 10920 11243| 14717 15780] 18517 20,581
1 = Z Y Iz A (F) 6,890 4,529 4,221 9,343| 14,231 9,919 10,567 27,031 26,322 32,947 12,507 13,006
(1) i Pl & 9,300 9,800 9,600/ 10,100 19,200| 18,800| 22,400 12,500/ 13,000
& 5 5 & ® & F % £ f& 8,300 8,200 8,600 9,000 9,500/ 10,100  10,700] 11,200 11,700
| (2) # = i G Bf) &
& | (3) 4 = it & A 4
Wla B & &8 B = #H K %
X A (# & F R ) # B £ 7515 7460| 10,470
(6) T = a 8 & 358 339 12 6 369 182 467 299 8 7 7 6
Y (7) % D th 6,532 4,190 4,209 37 4,062 137 17 54 70
2 = i Y 53 H (G) 19,726 20,136| 20553| 22,114| 23,131 22995 23412 40583 40,636 48366| 30673 33,581
1% gl (1) # 4 B B g 1,134 1,717 1,137 1,100) 17,232  16.244| 22,240 1,300 1,300
% [ & 5 5 B 8 K 5 &
B (2) b Vil & & = & (H) 19,726 20,136 20,553 20,980 21,414| 21,858 22,312 23,351 24,392 26,126 29,373 32,281
X3 WMEsF EHBASEEES
B @) ® = & ~ O & B 2%
(5) % ) ith
3 I % % 5| (F)~(G) M| A 12836 A 15607| A 16,332 A 12,771] A 8,900] A 13,076 A 12,845| A 13552| A 14314 A 15419| A 18,166| A 20,575




HRFE2S (RIFERER)

(REIRD) EEEZHKNIBEEE

IRE - BAGETE
(IR>ZETED)

(B6L:FH, %)

3

ot

266EE | 275EE | 285[E | 296 [E | 0EE | nEE = - = = = -
4 GRE) | RE) | D | r®) | r® | rm) | FE | FE | 4FE | SFR | FE | TEE
IR %X B Z 5l (320)) (J) 320 256 51 6 373 309] A 1,925 A 2,309 403 361 351 6
& 3 & (K) 320 256 51 6 373 309 467 299 403 361 351 6
AEENDZHEE (L)
EERLELTRAS (M)
B2 =X I X (D)-(KHL)-M) (N) A 2392 A 2,608
TP E EA~ARBY B 3T R EF B RO
£ B v K& F (P)
(N)-(0) O F Q) A 2392| A 2,608
- = (Q)
* F o OE ( B X100
IR 7% B UR 3 HE ER ( (D()':\()H) X100 ) 86.6 90.6 90.2 80.8 721 80.6 74.6 73.2 79.2 785 775 77.7
WAMBGERITSEI165FE1IEIC ctb)%iml,t (R)
& 2 ) = E
BEENE -FFEIFEW (B)- (C) (S) 11,725 11,813 11,979 16,755 12,334 11,986 12,661 12,786 12,668 12,514 12,351 12,209
fg 7% E‘j;r\&%’i@" H‘,jt i (R)/(S) X 100)
BebtERITEEI6RICEYETELT: o
& g D S & )
BeibERTHRAFEEICHET S L)
2 B ®] BE & &£ &~ B &
BelbEETREITRICKYEREL: W)
= = ) p3) 1=
b= - L D N = —
gé‘tg 5"’5,3*"{ Y ﬁ‘t L% ((T)/ (V) X 100)
Hh £ i OB A & B 3 (W)
ih Vil & % = X)| 419,722 399586 379,033 367,353 355,739| 343481 331,269 327,118 321,526 317,800 300,927| 281,646
OthEEHEAR (B FA)
=3 E3 _
264EFE | 27EEE | 28FE | 29FE | 0KE | tEE - o - - = .
4 GRED | (RE®) | RE) | GRE) | ca®m) | Gry) | 2FE | 3FE | 4EE | SFEE | FE | TEE
IR #F MR X & 22,294 24,591 25,003 16,656 16,728 16,422 16,242 15411 15,321 15,741 17,235 28,533
56 K E RN K AR 22,184 24,482 24,896 16,550 16,632 16,338 16,159 15,325 15,235 15,655 17,149 18,543
56 E £ 4 g AR 110 109 107 106 96 84 83 86 86 86 86 9,990
EENBASSILATHES 9,904
E XK IR X »
5L K E R B AR
5 b B O£ 4N & A £
HENBASSLFRTHE S
= it 22294 24,591 25,003 16,656 16,728 16,422 16,242 15,411 15,321 15,741 17,235 28,533




HRFE2S (RIFERER)

(RERQ) BEEF B KNIEER

IRE - BAGETE
(IR>ZETED)

(B6L:FH, %)

F 4 —
266 E | 27T5E/E | 285EE | 295E | 0FEE | nEE = - = - = -
X 4 GRE) | GRED | GRED | GRED | Gr®) | Grm) | 2FE | 3FE | 4FEE | SEE | 6FE | THE
1 @ Iz I (A) 62,808 60592| 59,167 48,824| 52,847 47,931 53,677 54,057 55720 51,968| 51,810 45440
1) & * 1R & (B) 36,081 35684 34463 29276 33013| 33,100 33266| 32,596| 31,948/ 31,010/ 30,118 29277
1% 7 # & Iz A 36,081 35684 34463 29276 33013| 33,100 33266| 32,595/ 31,948/ 31,010/ 30,118 29,277
i 4 ® ® I % W & ©
I D % ) b 1
RIAL (2 = * VA I Eny 26,727| 24908 24,704 19548  19,834| 14,831 20,411 21,461 23,772| 20958 21,692 16,163
7 &5 FH OB A £ 26,655 24853 24686 19,530 19,828 13,707 19,327| 18,359 18,377 18598 18379| 15812
i 1 % ) fth 72 55 18 18 6 1,124 1,084 3,102 5,395 2,360 3,313 351
4 2 & F (D) 37,531 33,996 32,109| 32,081 35,311 30,703 31,033| 32947 35955 31356 30,888 28455
1) & * & H 27,693 24675 23306 23809 27554| 23469| 247338 26,786 30,342 26,303| 26,402| 24539
i | 1z 7 B =1 A 5 = 1,323 946 1,389 930 1,146 1,176 1,737 1,782 1,784 1,800 1,816 1,832
£ 5 & ;B B F X4
|8 1 % ) th 26,370] 23,729 21917 22879 26,408 22,293| 22,601 25004| 28558 24503 24586 22,707
X[ (2) = * VA % H 9,838 9,321 8,803 8,272 7,757 7,234 6,695 6,161 5613 5,053 4,486 3,916
t 7 X s | B 9,826 9,321 8,803 8,272 7,757 7,234 6,695 6,161 5613 5,053 4,486 3916
565 —BHEALHE
1 % D ith 12
3 I &% % 5| (A)-(D) (E) 25277 26,596] 27,058 16,743| 17,536 17,228 22,644 21,110 19,765 20612 20922 16,985
1 = Z Y I A (F) 950 142 618 11,440 14,581 15978 13,756 14,316 14619 15116 31,254] 44,151
(1) b Pl & 11,200 14400 14500, 13500 13,800 14,600 15100( 23,600/ 32,300
& 5 5 & X & ¥ % & f& 11,200  10900|  11,500]  12,000| 12,500| 13,300|  13,800|  14,900| 19,500
| (2) # = B G Bf) &
& M| (3) b = &t & A 4
Wla B & &8 B = #H K %
& A (W & ®F B ) W 8 £ 7520 11,670
(6) T = a 8 & 82 142 278 240 60 511 256 516 19 16 14 11
Y (7) % D th 868 340 121 967 120 170
2 & i 3] 53 H (G) 26,084 26589 27411 27943 32,082 32214 31,102 32,121 33586 34968 51,440 61,125
iR gl (1) # 4 = B g 3,597 3,176 1,500 1,300 1,300 1,300( 16,340 24,640
% [ & 5 5 B 8 K 5 &
B (2) b Vil & & = & (H) 26,084 26,589 27,411 27,943 28,485 29,038 29,602 30,821 32,286 33,668 35,100 36,485
X3 WMEsF EHBASEEES
B @) ® = & ~ O & B 2%
(5) % ) th
3 In % £ 5l (F)~(G) ()| A 25134 A 26,447| A 26,793| A 16,503| A 17,501| A 16,236 A 17,346 A 17,805| A 18,967| A 19,852| A 20,186| A 16,974




HRFE2S (RIFERER)

(RERQ) BEEF B KNIEER

IRE - BAGETE
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ot

2605EE | 275EE | 285FE | 295E | 05E | tEE - = o o = -
4 GRE) | RE) | D | r®) | r® | rm) | FE | FE | 4FE | SFR | FE | TEE
v ¥ B = 5l (E)+(D) J) 143 149 265 240 35 992 5,298 3,305 798 760 736 11
& 3 & (K) 143 149 265 240 35 992 5,298 3,305 798 760 736 11
AEENDZHEE (L)
BEERELERTAES (M)
2 =R X X (JD)-(K)+(L)-(M)  (N)
TP E EA~ARBY B 3T R EF B RO
£ B I X|E F P
(N)-(0) O F Q)
- = (Q)
* F o OE ( B X100
IR 7% B UR 3 HE ER ( (D()':\()H) X100 ) 98.7 100.0 99.4 81.3 82.8 80.2 88.5 848 81.7 79.9 78.5 70.0
5 B BUA MR IT R B 165 B 1S a:u%:mu_ R
& & ) * E
B EXERE -FTFETIEI (B)- (o) (S) 36,081 35,684 34,463 29,276 33,013 33,100 33,266 32,596 31,948 31,010 30,118 29,277
fg 7% E‘j;r\&%’i@" b i (R)/(S) % 100)
BebtERITEEI6RICEYETELT: o
& g D S & )
BeibERTHRAFEEICHET S L)
i H W BB B & &~ B %
BEibEmITSEITRICKVETELT- W)
= ES ) iR 1=
0 - =1. 7
RELZBRFEFIERLE (/v xi00)
£ FH OB A £ % = (W)
ih Vil & % = (X)| 484,499 457910 430,499 413,756| 399,671| 385,133| 369,031| 352,010 334,324| 315,756| 304,256 300,071
OthEEHEAR (BT FF1)
=3 E3 —
264EFE | 27EEE | 28FE | 29FE | 0KE | tEE - o - - = .
4 GRED | (RE®) | RE) | GRE) | ca®m) | Gry) | 2FE | 3FE | 4EE | SFEE | FE | TEE
I & B N X &5 26,655 24,853 24,686 19,530 19,835 19,473 19,327 18,359 18,377 18,598 18,379 15,812
56 K E RN K AR 26,230 24,413 24,263 19,122 19,423 19,059 18,898 17,911 17,928 18,149 17,930 15,363
56 E £ 4 g AR 425 440 423 408 412 414 429 448 449 449 449 449
HENBASSDATRE
E XK IR X »
56 E E RN B AR
56 HE £ 4 g AR
HENBASSIERTHEH
= it 26,655 24,853 24,686 19,530 19,835 19,473 19,327 18,359 18,377 18,598 18,379 15,812




HRFE2S (RIFERER)

(RERQ) 18 A1l B K AL FE = 5

IRE - BAGETE
(IR>ZETED)

(B6L:FH, %)

F 4 —
266EE | 275EE | 285[E | 296 [E | 0EE | nEE = - = = = =
X 4 GRE) | GRED | GRED | GRED | Gr®) | Grm) | 2FE | 3FE | 4FEE | SEE | 6FE | THE
1 “® Iz I (A) 1,778 1,908 1,882 1,961 2,047 2,536 2,252 2,760 2,786 2,273 2,146 2,098
1) & * 1R & (B) 606 577 575 592 742 851 661 686 683 679 676 672
1% 7 # & Iz A 606 577 575 592 742 851 661 686 683 679 676 672
i 4 ® ® I % W & ©
I D % ) b
IiAl(2) & * VA I Eny 1,172 1,331 1,307 1,369 1,305 1,685 1,591 2,074 2,103 1,594 1,470 1,426
7 = § A N 584 747 808 851 902 1,208 918 911 855 717 653 1,385
i 1 % ) fth 588 584 499 518 403 477 673 1,163 1,248 877 817 41
4 2 & F (D) 1,476 1,433 1,386 1,349 1,381 1,644 1,605 1,926 1,890 1,560 1,546 1,543
1) & * & H 1,202 1,167 1,130 1,105 1,151 1,428 1,403 1,738 1,716 1,400 1,399 1,408
i | 1z 7 B =1 #a 5 &
£ 5 & ;B B F X4
X | # 1 % ) ith 1,202 1,167 1,130 1,105 1,151 1,428 1,403 1,738 1,716 1,400 1,399 1,408
X[ (2) & S VA = H 274 266 256 244 230 216 202 188 174 160 147 135
t 7 X s | B 274 266 256 244 230 216 202 188 174 160 147 135
565 —BHEALHE
1 % ) ith
3 I &% % 5| (A)-(D) (E) 302 475 496 612 666 892 647 834 896 713 600 555
1 & Z 7 )} A (F) 799 274 370 453 439 255 258 262 265 265 265 265
(1) i Vil &
& 5> b & K & F £ & &
| (2) # = i i Bf) & 79 113 191 248 252 255 258 262 265 265 265 265
& | (3) 4 = it & A 4
Wla B & &8 B = #H K %
#ME B (B #E mE) BB &
(6) T = a B & 566 86
Y (7) % D th 154 75 179 205 187
2 = i Y 53 H (G) 535 663 839 1,052 1,105 1,119 1,133 1,147 1,161 978 865 820
Rz & & & B B
% [ & 5 5 B 8 K 5 &
B (2) b Vil & g = £ (H) 535 663 839 1,052 1,105 1,119 1,133 1,147 1,161 978 865 820
X3 WMEsF EHBASEEES
B @) ® = & ~ O & B 2%
(5) % ) ith
3 IR % % 5| (F)-(G) 0) 264] A 389 A469] A599| A666] A864 A8I5| A8 A8 ATI3] A600 A 555




HRFE2S (RIFERER)

(RERQ) 18 A1l B K AL FE = 5

IRE - BAGETE
(IR>ZETED)

(B6L:FH, %)

=3 E _
266 E | 27T5E/E | 285EE | 295E | 0FEE | nEE = - = - = -
4 GRE) | RE) | D | r®) | r® | rm) | FE | FE | 4FE | SFR | FE | TEE
IR %X B Z 5l (320)) (J) 566 86 27 13 28 A 228 A 51
& 3 & (K) 566 86 27 13 28
AEENDZHEE (L)
EERLELTRAS (M)
B2 =X I X (D)-(KHL)-M) (N) A 228 A 51
TP E EA~ARBY B 3T R EF B RO
£ B I X|E F (P)
(N)-(0) O F Q) A 228 A 51
- = (Q)
* F o OE ( B X100
IR 7% B UR 3 HE ER ( (D()':\()H) X100 ) 88.4 91.0 84.6 81.7 82.3 91.8 82.2 89.8 91.3 89.6 89.0 88.8
5 B BUA MR IT R B 165 B 1S a:u%:mu_ R
& & ) * E
BEENE -FFEIFEW (B)- (o) (S) 606 577 575 592 742 851 661 686 683 679 676 672
fg 7% E‘j;r\&%’i@" b i (R)/(S) % 100)
BebtERITEEI6RICEYETELT: o
& g D S & )
BeibERTHRAFEEICHET S L)
2 B ®] BE & &£ &~ B &
BEibEmITSEITRICKVETELT- W)
= ES ) iR 1=
b= - L D N = —
RELZBRFEFIERLE (/v xi00)
Hh £ i OB A & B 3 (W)
ih Vil & % = (X) 17,200 16,536 15,697 14,645 13,540 12,421 11,288 10,141 8,980 8,002 7,137 6,317
Oth&EEHEAR (BT FF1)
=3 E3 _
205EE | 216EE | 285F | 295E | 05E | tEE o " o " o "
4 GRED | (RE®) | RE) | GRE) | ca®m) | Gry) | 2FE | 3FE | 4EE | SFEE | FE | TEE
R &= MR X » 584 747 808 851 902 1,463 918 911 855 717 653 1,385
56 K E RN K AR 578 741 802 843 896 1,457 911 904 848 710 646 602
56 E £ 4 g AR 6 6 6 8 6 6 7 7 7 7 7 783
EENBASSILATHES 776
E XK IR X » 79 113 191 243 252 255 258 262 265 265 265 265
5L K E R B AR 79 113 191 243 252 255 258 262 265 265 265 265
56 HE £ 4 g AR
HENBASSLFRTHE S
= it 663 860 999 1,094 1,154 1,718 1,176 1,173 1,120 982 918 1,650




